17. XBatut i1 1000 pybnen, ytobel kynnts 8 neHanos no 130 pybnen?

A He xBatut. HyxHo ewe 140 pybnen.

B Xsatut. OctaHetcs 40 pybnen. r
B Xsatut. Octanetcs 140 pybnen.

[ He xBatut. HyxHo ewe 40 pybnei.

8x130=1040 pyo
CTOAT 8 MEeHAJ0B
1000 > 1040 na 40 pyo




17 ¥Ynatut nun 10N nuAnair uTnAL vuniATe A TaTnanall nn 17 nuAnai?

17. Xeamut nu 100 pybnei, 4tobbl KynuTb 6 Hapuuccos no 16 pydnen?

A He xsatut. HyxHo eLe 4 pybns.

b Xsarut. OcraHerca 6 pybnei.
B Xsatut. Octanetcs 4 pyons.
[ He xgatut. HyxHo eLue 6 pyonei.
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18. Paaa codart 48 mi0OS: NACTAT, FWCIeK 1 CopogXe, cuues
CHRORNEK BiecTe 060 42 muGa. Cipogner 06no 6 4 pasa bonbu
M i
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1) 48-42=6(MacJsT)
2) 6x4=24 (CBIPOEIKKH)
3) 48-24-6=18 (IucCHYKH)




